
Prüfungsaufgaben Aufgabe 151 

 
 

 



 

1.1 

 

Wertetabelle zu f: 
 

x     0          10          20          30          40          50          60 

y    40         32          25          20          16          13          10 
    

 
 

1.2 

 

Abgelesen: ca. 35 Jahre 
 

Rechnung: 
 

18 = 40 * 0,9772x |:40 
 

0,45 = 0,9772x |lg 
 

lg 0,45 = lg 0,9772x 

 
lg 0,45 = x * lg 0,9772 | lg 0,9772 

 
         lg 0,45   

x = ------------ = 34,6 --> nach 35 Jahren 

       lg 0,9772 



1.3 

 
nach 30 Jahren 1/2 

 
nach 60 Jahren 1/4 

 

nach 90 Jahren 1/8 
 

Rechnung: 
 

0,125 = 0,9772x |lg 
 

lg 0,125 = lg 0,9772x 
 

lg 0,125 = x * lg 0,9772 | lg 0,9772 
 

         lg 0,125   
x = ------------- = 90,1 --> nach 90 Jahren 

        lg 0,9772 


